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Problem quickname: 9046

L) Quick:
9046

Convert the numbers as indicated.

a) 3 to a roman numeral. = III b) LV to a decimal number. = 55

c¢) 54 to a roman numeral. = LIV d) LXVI to a decimal number. = 66

e) 69 to a roman numeral. = LXIX f) XXVII to a decimal number. = 27

g) 32 to a roman numeral. = XXXII h) LXXVII to a decimal number. = 77

i) LXXXII to a decimal number. = 82 j) XXVI to a decimal number. = 26

27) Quick:
9046

Convert the decimal number to a roman numeral.

a) 830 = DCCCXXX b) 64 = LXIV c¢) 477 = CDLXXVII

d) 258 = CCLVIII e) 374 = CCCLXXIV f) 740 = DCCXL

g) 654 = DCLIV h) 320 = CCCXX i) 934 = CMXXXIV

j) 152 = CLII

37) Quick:
9046

Convert the roman numeral to a decimal number.

a) MMMCMXX = 3920 b) MMMDCCLXXXIV = 3784

c¢) MDCXLVIII = 1648 d) MCXLIX = 1149 e) MMMCMLVII = 3957

f) MDCXXXI = 1631 g) DLXXVIII = 578 h) CMXVI = 916

i) MMMCDL = 3450 j) MDCLXVIII = 1668

47) Quick:
9046

Convert the numbers as indicated.

a) 1050 to a roman numeral. = ML b) CLVIII to a decimal number. = 158

c) 241 to a roman numeral. = CCXLI d) 1408 to a roman numeral. = MCDVIII

e) DLVII to a decimal number. = 557 f) 1069 to a roman numeral. = MLXIX

g) 697 to a roman numeral. = DCXCVII h) 1552 to a roman numeral. = MDLII

i) 1635 to a roman numeral. = MDCXXXV
j) MXLVIII to a decimal number. = 1048

Good Luck!
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